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#include<iostream>
#include<cstdio>
#include<cstring>
#include<string>
#include<queue>
#include<algorithm>
#include<cmath>
using namespace std;
const int MAX=1e6,TYPE=26;
struct ac automation
int trie[MAX]|[TYPE],num[MAX],6 tot, fail MAX];
void readin(char * a

int k=strlen(a),now=0;
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int 1=0;i<k;i++
ltrie[now][ali]-"a’
trielnow! [alil-'a'l=++tot;
now=trielnow| alil-'a'l;
num[now /| ++;
void getfail
queue<int> q;
memset(fail,0,sizeof(fail));
int i=0;i<TYPE;i++
trie i
g.push(trie il);
Iq.empty
int k=qg.front();
q.popt);
int i=0;i<TYPE;i++
trielk][1
failltrielk][i]l=triel[faillk il;
g.push(trielk][i]);
trielk][il=triel[faillk i1;/01000000 faild
int find(char *s
int ans=0,p=0;
int i=0;s[i];i++
p=trie(plisiil-'a'l;
/OO000O0trie000000O0O0OO0OOOO0OO failOOOOLO
int j=p;j and ~numj|;j=faillj ans+=num/j!,num/j=-1;
/000000000000 0abeddO{abed, cd}[]000O0Ocd
ans;
ac;
char str[MAX],tem|[MAX];
int main

int k;
scanf("%d",&k) ;
int i=1;i<=k;i++
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scanf("%s", tem);
ac.readin(tem);

scanf("%s",str);

ac.getfail();

printf("%d",ac.find(str));
0;
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$$ \begin{pmatrix} A & E\\ 0 & E \end{pmatrix} \times \begin{pmatrix} T _n\\ A\end{pmatrix} =
\begin{pmatrix} T_{n+1} \\ A\end{pmatrix} $$
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